
 

 

 פתרון הבחינה
 באנגלית

 'אגרסא  16481: , שאלון2017, זתשע" קיץ
 מוגש ע"י צוות המורים של "יואל גבע" 

 

 

 הערות:

 התשובות המוצגות כאן הן בגדר הצעה לפתרון השאלון. .1
 

 מוזכרות כאן, לחלק מהשאלות.תיתכנה תשובות נוספות, שאינן  .2
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is cheap.

is easy to work with (which reduces construction
time - and, therefore, construction costs as well). 

(That) the wooden buildings could burn down.

(The concern that) the use of wood will lead to the destruction
of the world's natural forests.
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farming.
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It saves (a lot of) water.

תשובות נוספות - ראה נספח
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 :11שאלה 

- Plants grow bigger and stronger. 

 

 

 

 

 נספח

 'השאלון  

(MODULE E) 

 תשובות אפשריות נוספות
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